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The system Ap

It 1s the system of recursive types.

The recursive types come together with an equivalence
relation 7,

The type assignment rules consist of the rules of A —
and the following rule

I''-M:o o g To
I'|'-M:o
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The set T=Type(An), trees of types of Apu.

(1) The set of types of Amn, T = Type(An), is defined by the following
abstract grammar.

T=V|T- T|uV.T

where V is the set of type variables.
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(i1)) Let o€ T be atype. The tree of o, T(c) is defined by
induction on the structure of ¢ as follows:

T'(a) = o if O 1s atype variable
rc—-t) = /—’ \

I'(o) I'(v)

(1 If o=pp,...p,.a for
T'(no.o) = some n =()

T (ola :=pa.o]) else
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(ii1) The equivalence relation &~  on trees is defined as follows:

o~te 7T(0)=T(7)
Exercises.

(a) Assume T =poa.o— Yy, then

T(‘C)/—)\Y /\
A\
N
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T'(t)=



(b) Assume T =(no.o— y)— udup.f, then

/\
/\

/\

T (T)
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©)  (no.o— y) ~(ua(a— y)— ).

(d) Wwo.o ~ola:=ua.o| forall o, evenif o =pp.o.

seminar 5



A

(x:0)eT
I'|l-x:0

(start rule)

Fl_M:(O—_)ﬂc) Fl-N:G

UoneuItll]o = «—
(UonEUTII]d - ) T|- (MN):©

ILx:o|- M:=<

(UOTONPOIIUL = ) I'l- (M.M):(0— 7)

I''-M:o O ~T

(N-rule)
I''- M:~x
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7-K: a—a

- (X (Ayx)ra—a
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